HENEREREHES
SH4E1H18H (KN)

Mt

€:E3::) (BT : kg )
PeES i ] ==Y = = 1B Z B fm &
BERXFE 121|535 X 103.9 1,150 50
RXAIH LA 167.2 750 100
JUH LA 37.1 700 100
LEHLA 111.5 470 30
<AOLA 91.6 480 100
XA LA 671.8 400 30
<55 49.2 290 30
F+77>39 29.3 477 470
LiE 28 JdEHAN 33.2 79
e 9 JUH LA 54.5 400 100
EXTYRS 44.5 219 100

T2

1,393.8




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
EEXFE 121%|ES5X 2,384.7 1,800 600
ASHLA 149.3 600 200
<3aHLA 309.5 250 100
<55 30.5 250 100
o0OvA 30.6 500 200
8o o ESX 106.3 1,900 600
he 9% <40 127.8 900 600
X453 56.1 800 500
aitaE 3,194.8




